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Please watch the following videos and answer the following
questions
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Video 1

SQUARE ROOTS, CUBE ROOTSQUARE ROOTS, CUBE ROOT……

Video 2

SQUARE ROOTS, CUBE ROOTSQUARE ROOTS, CUBE ROOT……

Video 3

SQUARE ROOTS, CUBE ROOTSQUARE ROOTS, CUBE ROOT……

What will come in place of question mark in each of the

https://www.youtube.com/watch?v=790Sk6evQFs
https://www.youtube.com/channel/UC7Tt5lAtdx8qskODeFc1T8g
https://www.youtube.com/watch?v=mHRkeLIvchY
https://www.youtube.com/channel/UC7Tt5lAtdx8qskODeFc1T8g
https://www.youtube.com/watch?v=KPG6Th38osg
https://www.youtube.com/channel/UC7Tt5lAtdx8qskODeFc1T8g
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1. √(32.4 / ? ) = 2 *

2. √86.49 + √[ 5 + ( ? )^2 ] = 12.3 *

3. Find the value of √[0.289/0.00121] = ? *
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Answer : 
√3 = 1.732
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4. find the value √3 up to three places of decimal. *

5. Evaluate √[ ( 9.5 × 0.0085×18.9) /(0.0017×1.9 × 0.021) ] *

6. A= B/2 , B= C^2 /2 , C= 2√3 Which is ' A' of the following ? *
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7. If a+b=7 and √(b^2 - 9) = 4 , find 'a' ? *

8. Find the smallest number that must be multiplied to (a^3 ×
b^8× c^6)/ d^7 to make it a perfect square *

9. Find the smallest number that must be multiplied to
(125×P^8 ×q )/18r to make it a perfect square *
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10. X+(1/X)=5 Then X^2 + (1/X^2) = ? *

11. X-(1/X) =5 , Then X^2+ (1/X^2) = ? *

12. X+(1/X)=5, Then X^3 + (1/X^3)= ? *
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13. X-(1/X)=5 Then [X^3+(1/X^3)] *

14. A man plants 15376 apple trees in his garden and arranges
them. So that , there are as many rows as there are apples in
each row. The number of row is? *

15. A general wish to draw up his 36581 soldiers in the form of
solid square. After arranging them, he found that some of
them, are left over. How many are left? *
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16. A group of students decided to collect as many paise
from each number of the group as is the number of members.
If the total collection amount to Rs. 59.29. The number of
members in the group is? *

17. Find √45796 *

18. √484 +√529 *
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19. √[218+√49] is equal to *

20. (√625÷11)×(14÷√25)×(11÷√196) *

21. What is the cube root of 2197 *
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22. The cube root of 0.000216 *

23. What should come in place of both x in the equation
X÷√128 =√162÷X *

24. The square root of (7 + 3√5) (7 - 3√5) is *
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25. The square root of 64009 is: *
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